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Essential Skills 13 

1 𝑥 = −0 ∙ 4 & − 5 ∙ 6 

2 𝑥 = 0 ∙ 2 & − 1 ∙ 5 

3 𝑥 = 1 ∙ 0 & − 0 ∙ 8 

4 𝑥 = 1 ∙ 6 &1 ∙ 3 

5 𝑥 = 0 ∙ 4 & − 4 ∙ 4 

6 𝑥 = −4 ∙ 8 & 0 ∙ 8 

7 𝑥 = 0 ∙ 7 &0 ∙ 2 

8 𝑥 = 1 & − 2 ∙ 5 

9 𝑥 = 1 ∙ 5 & 0 ∙ 3 

10 𝑥 = −0 ∙ 7 & 2 ∙ 2 

AQ 𝐴(−0 ∙ 581, 0) & 𝐵(2 ∙ 58, 0) 

Essential Skills 14 
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Essential Skills 15 

1 30° & 150° 

2 30° & 330° 

3 31° & 211° 

4 9.6° & 170.4 

5 48.2° & 311.8° 

6 77.5° & 257.5° 

7 203.6° & 336.4° 

8 120° & 240° 

9 135° & 315° 

10 23.6° & 156.4° 

AQ 𝐴(210°, −1) & 𝐵(330°, −1) 

Essential Skills 16 

1 𝑏2 − 4𝑎𝑐 = −7;  𝑛𝑜 𝑟𝑒𝑎𝑙 𝑟𝑜𝑜𝑡𝑠 

2 𝑏2 − 4𝑎𝑐 = 1;  2 𝑟𝑒𝑎𝑙 & 𝑑𝑖𝑠𝑡𝑖𝑛𝑐𝑡 𝑟𝑜𝑜𝑡𝑠 

3 𝑏2 − 4𝑎𝑐 = 0; 2 𝑟𝑒𝑎𝑙 & 𝑒𝑞𝑢𝑎𝑙 𝑟𝑜𝑜𝑡𝑠 

4 𝑏2 − 4𝑎𝑐 = 9;  2 𝑟𝑒𝑎𝑙 & 𝑑𝑖𝑠𝑡𝑖𝑛𝑐𝑡 𝑟𝑜𝑜𝑡𝑠 

5 𝑏2 − 4𝑎𝑐 = 21; 2 𝑟𝑒𝑎𝑙 & 𝑑𝑖𝑠𝑡𝑖𝑛𝑐𝑡 𝑟𝑜𝑜𝑡𝑠 

6 𝑏2 − 4𝑎𝑐 = 0; 2 𝑟𝑒𝑎𝑙 & 𝑒𝑞𝑢𝑎𝑙 𝑟𝑜𝑜𝑡𝑠 

7 𝑏2 − 4𝑎𝑐 = 81; 2 𝑟𝑒𝑎𝑙 & 𝑑𝑖𝑠𝑡𝑖𝑛𝑐𝑡 𝑟𝑜𝑜𝑡𝑠 

8 𝑏2 − 4𝑎𝑐 = −31;  𝑛𝑜 𝑟𝑒𝑎𝑙 𝑟𝑜𝑜𝑡𝑠 

9 𝑏2 − 4𝑎𝑐 = 41; 2 𝑟𝑒𝑎𝑙 & 𝑑𝑖𝑠𝑡𝑖𝑛𝑐𝑡 𝑟𝑜𝑜𝑡𝑠 

10 𝑏2 − 4𝑎𝑐 = −16;  𝑛𝑜 𝑟𝑒𝑎𝑙 𝑟𝑜𝑜𝑡𝑠 

AQ (1)  𝑏2 − 4𝑎𝑐 = 0  (2)  𝑘 =
5
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